Statistics Test 1 


NAME: _______________________________    DATE: ___________________   

STATISICS REVIEW – CHP 1 & 2
1.    True of False:  The mean is a resistant measure of center. Answer : _____________
2.    A _______________ breaks the range of values of a variable into intervals and displays only the count  (or percent) of observations that fall into each interval.

3.
The statement “the median of a distribution is approximately equal to the mean of the distribution “ can be made true by adding which of the following: ANSWER: _______________
a. for all distributions   b. for skewed distributions

c. for symmetric distributions
 d. none of these

[image: image1.png]



4. 
Describe the shape of the graph: ____

a. skewed to the right 

b. skewed to the left

c fairly symmetric

d. symmetric 

5. Will the mean fall to the right or to the left of the median for this distribution?   LEFT  or   RIGHT
6.
The scores on a statistics exam are strongly skewed to the left. So it is best to describe the distribution by reporting

a)  the five number summary
b) the mean and standard deviation
c) the mean, median and mode 


d) the variance

7.
The following is the 5 number summary for a data set.



2    24    32   42   70


 What is the IQR ? ______

8. Does the above data set have any outliers? YES or NO? – (you must show work below to prove your answer)
9.
What is the median of the following list of numbers?    25, 15,38,37,19,20,36, 24, 16, 22, 25
     ANS: __________________________

10.
Using the data from # 9 what number would represent the first quartile?    ANS: _____________
11.
If you are told a population has a mean of 25 and a variance of 0, what must you conclude about the population?

Given the following set of data.

11,12, 14, 14, 17, 18, 20, 23, 28, 46

12.
Draw a stem plot of the data 

13.
Find the 5 number summary for the data. 

14. What is the IQR for the data?  _________

15. What is the upper boundary and lower boundary to determine if there are outliers?

       UpperBound:_________________            LowerBound: _______________

16 + 17.
Find the mean and standard deviation for the test scores (use proper notation): ________________

18. Construct a modified boxplot: 
19. What statistic is equivalent to the 50th percentile? ___________________

20.  Is the variance affected by outliers?  YES or NO

21. Given: N(62,8) –Sketch and label the distribution.  
22.  A set of test scores had a mean of 89 and a standard deviation of 8.  An unnamed statistics teacher decides that they are entirely too high, so he decides the set of scores should have a mean of 82 with a standard deviation of 6.  What will Jane’s original score of 73 become? 

23. The height of American men aged 18 to 24 are approximately normally distributed with a mean of 69 inches and standard deviation of 2.5 inches. What percent of young men are taller than 6.25 feet?
24. Scores on a standard IQ test are normally distributed with a mean of 100 and a standard deviation of 15. 

a.  How high must your IQ be in order to fall in the highest 5% (5 pts)

b. What percent of the scores will fall between 83 and 118? (5 pts)

25. Items produced by a manufacturing process are supposed to weigh 90 grams.  The manufacturing process, however, is such that there is variability in the items produced and they do not all weigh exactly 90 grams.  The distribution of weights can be approximated by a normal distribution with mean 90 grams and a standard deviation of 1 gram.  

a. What percentage of the items will either weigh less than 87 grams or more than 93 grams? (5pts)
b. What percentage of items will weigh between 87 and 93 grams?






